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ICM Unit 1 Quiz 1 Review Part 2

1. The dimensions in inches of a shipping box at We Ship 4 You have width x, length 5 inches more
than the width, and height 1 inch less than 3 times the width. The volume is about 7.6 ft.2. Find , "
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the dimensions of the box in inches. Round to the nearest inch. P\fq\/\ QY YolNinomugl | YYolaACrry
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2. Afarmerjh,\;;z“o“{?;ffELC'ngandwantstofenceoffa rectagw;ﬂarhe'l'a'f\at ordersastraight

river. He needs no fence along the river. What are the dimensions of the field that has the
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3. We want to construct a box with a square base, and we only have 10 m? of material to use in the ameat

L/‘ construction of the box. Assuming that all of the material is used, determine the” aximum >
SUV {ack volume that the box can have.
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4. We're going to form an open box from a 14in. X 1(‘)%%k piece of cardbogu’/‘:w Lutt‘lng Squares out \

of each corner and folding the sides up. Determine the helght of the box that will yield the
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